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Test 1

The length of the test is 1hr and 45min. You may use a nonprogrammable, nongraphing scientific
calculator. Remember to clearly show all of your work and to use correct notation.

Question 1. (4 marks) Simplify the following expression writing your final answer with positive

exponents: Y .
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Question 2. (4 marks) Simplify the following expression writing your final answer with positive

exponents:
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Question 3. Evaluate the following:

(a) (1 mark) cos (%’r) . ’/Z
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Question 4. Evaluate the following limits:
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Question 5. (4 marks) Graph the following function and use the graph to determine where the
function is continuous. If the function is discontinuous at a point x = a state which condition of
continuity it fails.
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Question 6. (5 marks) For which values of x is the following function continuous? (Do not graph
this function). Clearly explain your reasoning.
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Question 7. (6 marks) Let f(x) = x> +3x—2.

(a) Find f’(x) using the limit definition of the derivative,

(b) Find the point(s) on the graph of f where the tangent hne is honzontal
(c) Find the tangent line to the curve at x = 3.
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